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This section addresses a very important concept that has been used in previous sections:

Independent Events: A specific outcome matches one and only of the events.

Let’s say we are rolling a fair die.

Example 1:

Let Event 1 be that we roll an odd number: {1, 3, 5}.

Let Event 2 be that we roll an even number: {1, 4, 6}.

When we roll the die, it will be either odd or even, but it cannot be odd and even at the same time. Therefore, the events are independent.

Example 2:

Let Event 1 be that we roll an odd number: {1, 3, 5}.

Let Event 2 be that we roll a number divisible by 3: {3, 6}.

Notice that “3” is in both event sample spaces. When we roll the die, if it comes up a 3, which event does it satisfy? Both! Therefore, the events are not independent.

For this section, we are dealing with independent events for our calculations.

Probability spaces with equally likely outcomes include:

· Tossing a fair coin.

· Rolling a fair die.

· Drawing a card from a well-shuffled deck.

The probability of each individual outcome is exactly the same. To calculate the probability of an event, it’s a simple matter of counting the number of individual outcomes in the event and dividing by the total number of possible outcomes.

If we define Event A as rolling a 3 or a 5 on a fair die, the number of individual outcomes in the event is 2, and the total number of possible outcomes is 6. Therefore, the probability of the event is 2/6, or 33%.


